

$$1, \{2, 4, 8\}$$

$$\{2^0, \dots, 2^{11}\}$$

استهف

۱- اضم عدد ۸۱

$$\text{واسطه حسابی} = \frac{2^0 + 2^{11}}{2} = 2^6$$

۹۵ همتی

$$\{1, 2, 3\}, \{4, 5, 6, 7, 8, 9, 10, 11, 12\}$$

۲

$$\begin{matrix} 1 \times 2^0 & 2 \times 2^0 & 12 \times 2^0 & 4 \times 2^0 & 12 \times 2^0 \\ \text{عدد اول} = 121 & \text{عدد آخر} = 144 & \end{matrix} \quad \left. \vphantom{\begin{matrix} 1 \times 2^0 \\ 2 \times 2^0 \\ 12 \times 2^0 \\ 4 \times 2^0 \end{matrix}} \right\} \text{متوسط} = \frac{121 + 144}{2} = \frac{265}{2} = 132.5$$

$$2^k : n = 3^k \sim n = 3, 4, 9, 12, \dots \quad k = 1, 2, 3$$

۳

$$2^{k+1} : n = 3^k + 1 \rightarrow n = 1, 4, 7, 10, \dots \quad k = 0, 1, 2, 3, \dots$$

$$\left[\frac{n}{k+r} \right] + a : n = 3^k + r \rightarrow n = 2, 5, 8, 11, \dots \quad k = 0, 1, 2, 3, \dots$$

$$n=1 \rightarrow k=0 \rightarrow a_1 = \varepsilon / n=2 \rightarrow k=0 \rightarrow a_2 = \left[\frac{2}{2} \right] + a = 1 + a / n=3 \rightarrow a_3 = 2^1 = 2$$

$$n=4 \rightarrow k=1 \rightarrow a_4 = 2 / n=5 \rightarrow k=1 \rightarrow a_5 = \left[\frac{5}{2} \right] + a = 2 + a / n=7 \rightarrow k=2 \rightarrow a_7 = 2^2 = 4$$

$$n=8 \rightarrow k=3 \rightarrow a_8 = 0 / n=9 \rightarrow k=2 \rightarrow a_9 = \left[\frac{9}{2} \right] + a = 4 + a / n=10 \rightarrow k=3 \rightarrow a_{10} = 2^3 = 8$$

$$a_1 + a_2 + \dots + a_9 = 1 + \varepsilon + 1 + a + 2 + 2 + 1 + a + 4 + 0 + 8 + a + 16 = 28 + 3a = 19 \rightarrow 3a = -9 \rightarrow a = -3$$

$$a_1 + a_2 + a_3 + \dots + a_{19} = 1 + a + 1 + a + 1(2 + a) = 11 + 3a = 11 - 9 = 2$$

$$\left\{ \begin{aligned} \left[\frac{3^{k+r}}{k+r} \right] &= \left[\frac{k+r}{k+r} + \frac{2^k}{k+r} \right] = \left[1 + \frac{2^k}{k+r} \right] = 1 + \left[\frac{2^k}{k+r} \right] \rightarrow \left[\frac{2^k}{k+r} \right] \rightarrow \frac{2^k}{k+r} > 0 \\ \frac{2^{k+r}}{k+r} &= \begin{cases} 1+0=1 & n=1, n=0 \\ 1+1=2 & n=2, n=1 \\ n=12, \dots \end{cases} \end{aligned} \right.$$

$$\left[\frac{2^k}{k+r} \right] > 1 \rightarrow 2^k > k+r \quad 2^k > 0$$

$$\frac{2^k}{k+r} > 2 \rightarrow 2^k > 2k+2$$

$$0 > \varepsilon > 0$$

$$Q_{\omega} = 12$$

$$a_v = 14,5$$

$$a = \frac{1}{v} \times (-12) = -\frac{12}{v} \rightarrow a_{\omega} = -\frac{12}{\omega} = r a + \omega b + c = 12$$

-3

$$a_n = -\frac{1}{\omega} n^r + \epsilon n - 1 \quad \leftarrow \begin{array}{l} -a + \omega b + c = 12 \\ \omega b + c = 19 \end{array}$$

$$a_v = -\frac{1}{\omega} \times 9 + v b + c = 14,5 \rightarrow -9,1 + v b + c = 14,5 \rightarrow v b + c = 23,6$$

$$\omega b + c = 19$$

$$v b = c - \omega b - c = 23,6 - 19 \rightarrow v b = 4,6 \rightarrow b = 2 \rightarrow a(2) + c = 19 \rightarrow c = -1$$

$$\frac{a_{10}}{a_1} = \frac{-\frac{1}{\omega} \times 10^r + 10 \times 2 - 1}{-\frac{1}{\omega} \times 1^r + 1 \times 2 - 1}$$

$$= \frac{12}{\frac{12}{\omega}} = \omega$$

$$a_f = t_f$$

$$a_n = t_v$$

$$t_{10} = 0$$

$$a_{f+\epsilon d} = t_f + \omega d' \rightarrow f d = \omega d'$$

-2

$$t_{10} = t_{10} + \omega d' \cdot 0 + \omega d' = \omega d' \rightarrow \frac{a_{10}}{d} = \frac{\omega d'}{d} = \frac{f d}{f} = \epsilon$$

$$r a_f^r = \omega a_f a + r a_f a \rightarrow r a_f^r - r a_f a = \omega a_f a \rightarrow r a_f (r a_f - a) = \omega a_f a \xrightarrow{a_f = a_1 + r d} \frac{a_f = a_1 + r d}{a_f = a_1 + d}$$

-4

$$r a_f (a_1 + r d) = \omega (a_1 + r d) a_1$$

$$\frac{a_f}{d} = \frac{a_1 + r d}{d} \quad \left\{ \begin{array}{l} a_1 = -r d \\ \frac{r d - r d}{d} = 1 \end{array} \right.$$

$$r a_f = \omega a_1 \rightarrow r (a_1 + d) = \omega a_1$$

$$r a_1 + r d = \omega a_1 \rightarrow r d = (\omega - r) a_1$$

$$a_1 + r d = 0 \rightarrow a_1 = -r d$$

$$(c, b, a) \text{ (مستقيم)} \rightarrow b = c + d, a = c + r d$$

$$c + d, \frac{q^r}{\epsilon} = \frac{c q^r}{\epsilon} - c + d$$

-2

$$\frac{c}{\epsilon}, \frac{a}{\epsilon} \text{ (مستقيم)} \rightarrow \frac{a}{\epsilon} = \frac{c}{\epsilon} \times q, b = \frac{c}{\epsilon} + q^r$$

$$c \left(\frac{q^r}{\epsilon} - 1 \right) = d$$

$$c + r d = \frac{c}{\epsilon} \times q^r \rightarrow c + r d = \frac{c d}{r} \rightarrow \frac{c q}{r} - c + r d = c \left(\frac{q}{r} - 1 \right) = r d \rightarrow \frac{\left(\frac{q}{r} - 1 \right)}{\left(\frac{q^r}{\epsilon} - 1 \right)} = \frac{r d}{d}$$

$$\frac{1}{\frac{q}{r} - 1} = r \rightarrow 1 - q + r = q - 1 \rightarrow r a = -r$$

$$(b, a) \text{ (مستقيم)} \rightarrow b = c q, a = c q^r$$

$$c + r d = r c q - c = r d \rightarrow c (r q - 1) = r d$$

-1

$$(a, b) \text{ (مستقيم)} \rightarrow r a = c + d, r b = c + r d$$

$$r q^r = c + d = r c q^r - c = d \rightarrow c (r q^r - 1) = d$$

$$\frac{c (r q - 1)}{c (r q^r - 1)} = \frac{r d}{d} = r \rightarrow r q^r - r = q - 1$$

$$r q^r - r q - 1 = 0 \rightarrow \Delta = 9 + 1 = 10$$

$$q^r = -\frac{1}{q^2}$$

$$q = \frac{r \pm \sqrt{\Delta}}{2} = \frac{1 \pm \sqrt{10}}{2} \rightarrow q = -\frac{1}{\epsilon}$$

$$\frac{a_r}{(a_r)^*} + \frac{a_r}{a_r} = r \rightarrow \frac{a_1 q^{\Delta}}{a_1^* q^{\Delta}} = \frac{a q}{a_1^*} \rightarrow \frac{a^r}{a^r} + \frac{q}{a} = r \rightarrow \frac{a^r}{a_1^*} + \frac{q}{a_1} = r \dots \quad 9$$

$$\frac{a^r}{a_r} = \frac{a_1^r}{a_1 q} = \frac{a_1}{a} \quad \leftarrow \frac{q}{a} = 1 \quad \underline{\underline{(-r)}} \quad \left(\frac{q}{a} + r \right) \left(\frac{q}{a} - 1 \right) = 0$$

$$\underline{\underline{\frac{1}{r} = 1 \quad \underline{\underline{-1}}}} \quad \underline{\underline{-1}}$$

$$a_r^r = a_r, \quad a_0 = rv \quad a_r^r = a_r q \rightarrow a_r = q \quad 1.$$

$$a_0 = \frac{rv}{a_0} = \frac{rv}{q} \rightarrow a^r \rightarrow rv = q^r \rightarrow q = r \quad q_1 = a_0 = \frac{rv}{a_2} = \frac{rv}{r^2} = \frac{rv}{11} = \frac{1}{r}$$

$$\frac{1}{r} - a_1 = \frac{1}{r} - \frac{1}{r} = \frac{1}{r}$$